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Question 1- Find the ratio between the boys in C and D.
T 17- C 3 D H TSehi o sii< 3T LT Hel hifsTg)

A.12:11
B.13:11
C.10:11
D.4:11
—E. None

TOTAL STUDENTS = 6000 TOTAL GIRLS 2000

m CLASS A @ CLASS B g CLASS C @ CLASS A @ CLASS B g CLASS C
m CLASSD @ https://t.mx{m@tibmtarunsirmepl
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Boys ¢ = 222/0%[6000—— R5% 0f000 = [390—500
= 820
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Question 2- Number of boys in class D 1s what percent more or

less than the number of girls in class C.

T 18- &N D H ASHhI ehl GAT, HedT C H ASTRAT hl €T U fohdH

gfoerd SRR AT FAE?
TOTAL STUDENTS = 6000 TOTAL GIRLS 2000 A4
=B. 64%
C.52%
D.33%
E. None

m CLASS A @ CLASS B g CLASS C @ CLASS A @ CLASS B g CLASS C
m CLASSD @ https://t.mx{m@tibmtarunsirmepl
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Question 3- Find the central angle for girls in class A.

T 3- T A H ASRIT oh ToTT Shg[F hIUT JTd hifST|

TOTAL STUDENTS = 6000 TOTAL GIRLS 2000

@ CLASS A g CLASS B @ CLASS C

l CLASSD @

m CLASS A @ CLASS B g CLASS C

https://t. <’ méetibmtarunsirmepl

A.61.2°
B.64.8°

C.52.2°
D.24°
E. None
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(O ooy = 360
= 3o
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T= 36x17
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Question 4- Find the central angle for boys in C.

T 4- C H ASh! o (AW hald IV JTd hiSTg

A.54°
B.64.8°
C.54.8°
D.24°
—E. None

TOTAL STUDENTS = 6000 TOTAL GIRLS 2000

m CLASS A @ CLASS B g CLASS C @ CLASS A @ CLASS B g CLASS C
m CLASSD @ https://t.mx{m@tibmtarunsirmepl
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_ Question 1- The ratio of length and breadth of a rectangular field is

M/4 : 3. If the breadth 1s 4 metres less than the length, the diagonal of the

field 1s
Ueh SATAAThR HE ohl TialTg ST ISTS o1 ST 4: 3 81 Ale =SS delrg
¥ 4 Hiet 9 2, 1 A 1 forehul o1 82 A 10m
‘ .
O R L= HxH= l6m —B- 20m
H - 3 B 43 Rm C. 12m
L D. 8m

\ T
\:Hm_ D’W “’\( \_6 1\‘23\ E. None of these
= %6y <n (30
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Question 2- What approximate value will come in place of the

question (?) in the following question?

fATTRerd w5 | 731 1@ (?) o T UL STIATH HI sl ST

2
3433 +\(?-4.01)=91.02

_ -4~
194 3L g, 1= 1364 B, 1750
J{:HG& C. 1200

RTINS [ —  D. 1882
E. None of these
'\{‘X\\l‘l— =~ Lf..?
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o A0 18 Moy s
g%&/ (”W Question 3- What will come in place of question mark '?' in the

following question?

Question 3- What will come in place of question mark'? in the

T 3- FHETARad I 0 I T8 ' o T 9T -7 ST i
‘ 1 8-5x§+20=?—16
8—5>X=-+20=7-16
p4 A. 23
F1901/6- x 5. 3
¥ C. 43
=43 D. 53
— E. None of these
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Question 4- What will come in place of question mark '?' in the

>

following question?

T 4- FETARgd I 0 T T8 ' o T UL =T ST

729 - V529 = \?
A. 12
Q:I’—QK:J} B. 13
= €. 16
) 30 D. 18
Qﬁ):ql X=g
L — E. None of these
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Question 5- What will come in place of question mark '?' in the
following question?
97 5- ETeTRad I § 957 g 12! oh T O 3T STTET?

7.5% —1.2% = x* —4.81

5635
| 4y 5é'°?mﬂ&[~qL g 2
S48 e -
49| ;SH'&HH@/ D. 7
D 62 L= 590 =5

30

= None of these
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Question 6- What value should come 1n place 0% question mark.5
T 6- 99 T o &AM 9 {19 =7 AT 1R

4 5 6 = O
A. 13.25
X:<5+5+’5)¢[\DQ+ WS L SX B. 1125
) ~\OR Ay 69 C. 14
- ISJY (%j oy Qg\ —D. 1425
= l Y - § E. None of these
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Question 7- What approximate value should come in place of question
64 O | mark (?) in the fOllowing question?
| € AToTRerd w5 | W31 1@ (?) o U 9T STATH HI ST ST = iey?
(56 | (BLOTX81L.OD—(17.01 x17.11)=8.03 x ?

A. 786
éiia - 17 o B. 686
% = GQ?Q 30 C. 722
X IS6 D. 894
) 6&: = 44 £ None of these
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\/ §O Question 8- What approximate value should come 1n place of question

>

/é‘y‘/ mark (?) in the following question?
&H 4 [ feTRad = | 1 i@ (?) o T O STATHT W -7 STHT 1R

82.04 +145.87 +16.04 =90.001 + 36.01 + ?

~ A. 128
1= §Q+li€+i“3© -3C _B. 118
- e 0
=~ ‘/@ ——E.. 78
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Question 9- What approximate value should come in place of question

>

mark (?) in the following question?
(feTRad 921 | w51 i@ (?) o ST O STATHT W -7 STHT A1RT?
2.02+88x05+14.1="7

n |
X= o4 B¢x65 g ?1
My 30) ¢ >
=X R C;CQFS
1 E. 14
= 'lﬂéz 5@“5

¥ :
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Question 10- What approximate value should come 1n place of

>

question mark (?) in the following question?
[ ToTRET 5 | 3 T<1@ (?) o T 9L STHT HI T ST = Miey?
(8.01 % of 7200) +~ 24 =12.01 % of ?

Q 3 A. 8
XQL}%N‘P N |§\)7g1 B. 11
C. 200

) ofa= 94 30 D. 5

E. 14
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"o 0w R

D Gp { Te-

Rs 1006—=~
Rs 2000
Rs 2500
Rs 2100

None of these

Question 11- A person started a business. He invested Rs. 6000,

After 3 months, B came and invested some amount of money to

join his business. At the end of the year, the ratio of their share

of profit W&@]OW much more money did B invest than A?
T 11- Teh S i<h - SATET I (ohAT| 384 6000 T AT {97 foham|

3 HEH 918, B SATAT X 370 ST H AMHA &I oh o1T e TR
<A1 TeIeT foram| o o 31 W, 37k AT o T8 <l 3TUTA 8 : 7 9T B

T A ST T H ToheiAT SAT8eh o fHaer foham

30
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Question 12- A person completed a journey of 10,000 km. First
4,000 km at 40 km/hr then next 3,000 km at 60 km/hr and rest at
30 km/hr. Calculate the average speed of the journey?

T 12- T 341k A 10,000 Teret =T AT Ot <Al 98 4,000 TorHT 40
foRefl/eieT <Rl i | 3R O 3T 3,000 TerHt 60 Torefl/eieT shl ifd
R 30 Tohel/ereT shY T ©| AT skl S il T hiTsr?

A. 20 km/hr

30 B. 30 km/hr
C. 45 km/hr

—B- 40 km/hr

E. None of these
https://t.me/mathbytarunsirmepl
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Question 13- A man can row 8 km per hour 1n still water. If in a
river flowing at 2 km an hour, it takes him 180 minutes to row

to a place and come back, how far off 1s this place?

T 13- Ueh ek R ST | 8 Tordt fe sier <ht i & 19 9a
GehdT 2| Ife 2 Tore) ufer =i sht fa & s aredl 4€t 1, 39 Tk w9
TS S SToE ST H 180 e o &, 1 e T fopat g 22

A. 12 km/hr

30 B. 13.33 km/hr
C. 15.55 km/hr
D. 20 km/hr

E. None of these
= https://t.me/mathbytarunsirmepl
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